
From a population of 20,000 observations, a sample of 500 observations is selected. Calculate the standard 

error of sample mean if the population standard deviation equals 20 

Solution 

The standard error of sample mean for finite populations is 

𝜎𝑋̅ =
𝜎

𝑛
∙ 𝑓𝑝𝑐 , 

where 𝜎 is the population standard deviation, 𝑛 is a sample size, 𝑓𝑝𝑐 = √
𝑁−𝑛

𝑁−1
  is the finite population 

correction factor, 𝑁  is  population size. 

Thus, the standard error of sample mean is 

𝜎𝑋̅ =
20

500
∙ √

20000 − 500

20000 − 1
= 0.039. 

Answer: 𝟎. 𝟎𝟑𝟗. 
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